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SF4E68118(L)
E 4z K £ 7ok 1 > —#%JL | HDCP ESVI RAVb
& B FEH A= 35 39 74 9.0 65.0 400
B Bl &= 45 40 85 18.0 67.0 300
3fL =wH B 42 43 85 18.0 67.0 200
AL R =X 40 35 75 7.0 68.0 100
541 AR Es# 37 38 75 7.0 68.0 100
64z Ci) L 37 42 79 10.0 69.0
741 KIK  BAME 41 39 80 10.0 70.0 90
]2 & F5H 36 40 76 6.0 70.0
ofiz Bk BEA 41 40 81 11.0 70.0
104z " &BE 36 38 74 3.0 71.0 75
114 BH X 40 42 82 11.0 71.0
1241 B2 R 43 43 86 15.0 71.0
13431 AHE HE 44 45 89 18.0 71.0
14451 FAIER  #BA 37 38 75 3.0 72.0
1541 XHE FH 48 40 88 16.0 72.0
1641 RN 8- 43 40 83 11.0 72.0
1741 TEB RE 47 44 91 19.0 72.0
181z F# IEfT 40 44 84 12.0 72.0
1941 BrIER P21 38 44 82 10.0 72.0
2014z BA =4£ 40 41 81 8.0 73.0 60
2143 BRRE —hE 44 41 85 12.0 73.0
22431 EiE BRI 40 42 82 9.0 73.0
2341 mi 2 48 43 91 18.0 73.0
24431 B RX 45 43 88 15.0 73.0
2541 AR X 50 46 96 23.0 73.0
2641 =M Ax 39 38 77 3.0 74.0
271 G MR 40 39 79 5.0 74.0
281z BH EX 39 44 83 9.0 74.0
29{i1 [FH #5H 43 44 87 13.0 74.0
301iz BA FA 44 48 92 18.0 74.0 60
314 R ZF 44 53 97 23.0 74.0
321 AXH E& 43 40 83 8.0 75.0
331 A Hth 44 41 85 10.0 75.0
3441 X% IBEF 45 47 92 16.0 76.0
3541 NE B 45 42 87 10.0 77.0
361i B #H— 47 47 94 17.0 77.0
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3711 =% HE 47 49 96 19.0 77.0

38{iL mnx 2 48 46 94 16.0 78.0

394 [LE 1EBR 47 49 96 18.0 78.0

401z m FX 45 49 94 16.0 78.0 60
A1{s =K —& 48 44 92 13.0 79.0

42431 mAR FH 44 45 89 10.0 79.0

A3{i1 & EH 45 45 90 11.0 79.0

4441 HE  Bf 49 50 99 20.0 79.0

45§ R fE— 47 50 97 18.0 79.0

46131 ws L8 59 53 112 33.0 79.0

ATHL TR &H—HB 45 45 90 10.0 80.0

4841 w OEE 43 46 89 9.0 80.0

4941 g-u N 49 47 96 16.0 80.0

5041 =& FX 46 48 94 13.0 81.0 60
5141 BiH EE 52 48 100 18.0 82.0

52{i Z2 #&N 46 51 97 13.0 84.0

BBE LT &7 51 52 103 19.0 84.0

5441 LT B= 50 54 104 17.0 87.0

BBE E% #ia 55 54 109 22.0 87.0 90
561 FR E&R 61 55 116 23.0 93.0
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